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dabogmmds  ®gdo. 569, ©09gdo (TR) doo0sbo 399mbog5¢0 0d69%5 42 000 s6H0
[(TR) =0,30-140 000 =42 000] , ®HmJgerbsg xsLOL Fodsdm Immbmgbol IOHMDY  Tggbodsdgds E
D6 @owo.

dabogdmdol  x3sbol dgdzomgds 0,10  sdom, 0,20 @iMsdEg,  dgbogdmdsbg  dmmbmzboero
om9bmdsll  25bGMOL 160 000 JaHogO™mdsdg ©®gdo. bmem, ©ogdo (TR)  doeosbo
B90mbsgoemo 42000 @stoosb  393306mgds 10 000 koo ©s odbgds 32000 G0
[(TR) =0,80-40 000 = 32 000] , GM®Igbsg RsLOL dodsG dmmbmgbols IOMEDY Tgglodsdgds F
PoOGowo.

39L505dobo, BsLob gd30Mgdsad gsdmofj30s ®do (TR) domerosbo dgdmbiagerol 8993069ds.
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50 35M99M93d0, 3960 FoBsbos 90bodbyo 3MMdegdol 293m33eg3s @S FgLsdsdolo Fsmgdad 03O
d90mobl dgbfogas.

955, 05HMOL FMbM3bs d5e0sb TgMmAbMd0sMgs BoLOL 33w0Egdol dodsMm, MIbYE 8w9690MH 035
dmbggl 300560 F93mbogerols 33enoegds.

dmmbm3b0L bodwemm geEolBHo3IMMds BsLol AP bsbMEolb dodsmom 9fimgds boob:

AQ
Q — 3m»bM360L BoOMd0mO bybMH o —Q_| _ | P AQ
P — 35l0b 3s6Gmdomo bsbHo |£ | ~1Q AP

P

E(Q;P;AP) = (12.9)
596, dmmbmgbol Q@ = gp(P) x36J305 5O0b 3e0gds@os @ Bsbol BOEIL (AP > 0) dmbggl
dmmbmgzbol 39330609ds (AQ < 0) s 3oMHodom, 3slol 39330Mgdsl (AP < 0) dmbggl dmmbmgbol BGOS
(AQ > 0) 530¢)™a,

AQ

—
AP

53596, 93mbmT0zMM0 FobssMLoEB 25dmBE0bIMGMdL, dmd P >0 ©s Q > 0.
5do@H™d, xgsbolb AP BsBOOL d0dsmm, Immbmzbol Lsdwsmm gesldozw®mdol BmMdmEsdo dmyEols
60369330 dnmsglgdreno 95dmbsbmengds ymzgerm3ol LJoMYMBOMOs.

b 30, L3O gdsL 935deg3l  E( Q; P;AP) Loog Ho6dmz00a06mm dmmeol go693d9, 999090
Loboon:

E(Q;P;AP) = — L

= (12.10)
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(12.10) g3mG3IMe0sdo [E( Q;P;AP) = — g- %g 039obbdgds, ®md Q@ s P LoOWYd0 JOMISbgIPMb

Q9393306090905 dmmbmgbol Q = gp(P) 13vbJEombscrwmo sdm30gdwgdom.
5do@H™d, 99330005 P 35b0 25630bormom ©sdme)300909e0 (33e9IQ QS 9930 IM Br3zsmDg (12.10)

[E( Q;P;AP) = — g- % ] AMEmd530, HMmEILsg AP — 0.

5dob 999gao@ d030090 E(Q;P) Lowogl, ®mdgebsg gfimgds dmmbmgbols gamdbdozndmds  x3sbol
3035600

me o i-g'D(P) (12.11)

P
E(Q;P)= mE(Q;P;AP):—Q—Aquoﬁ_ 5

li
AP-0
3936036m», ™3 dmmbmzbol E( Q; P) gansliyozsy®rmds dosbermgdoo 930639690L, vy Gmam® 033wgds
Q dmmbmgbs P g35Lol 1%-00 9933e0bob.

39603365 1. o) Immbmzbol 331969305 FmEgdeEos P = fp(Q) 3m6300 s 93 GHmemdosb fp 13wbJgool
LoMmnmEool 95dm dbgeros @ 3E3eoOol 25dmbsbgs P - b Losdrswgdom, 9580b (12.11) xmGImeol

Boggwo Mbs 29dm309gbmo senEgdbs@oreo BmmIMS, GmIgwos 33ws3 (12.10) RmOIMosb
do0M9d:

E(Q:P)=— — .1
A A TN ()

by 3533033 omm, dmmbmgzbol gesliBogm®Omdol 45dmygbgdom, GMAMO MOl ITM30IdIIO
3000560 dg3mbogseno (53mbsggdo) gsbol 33wr0Egdsby.

(12.12)



U g3mdgom, dmmbmgbol i3rbdzos dmEgdmeos Q = gp(P) Lsbom, Losg gp(P) 3wgds0 RwbJgoss.
» 35806 dong0sbo Fg3mbogoeo 258m0m3ewgds 39990 BMMTNIEOm:
(TR) =P-Q =P-gp(P)

> 2500m3m35wmm 9 BbJgool Homdmgdmewo P sOamdgbdom

' P
(TR) = (P-gp(P)) =P -gp(P)+P-g',(P)=1-gp(P)+P-g',(P)=gp(P)- <1 +gD(P)-g’D(P)>
d9L5d53obo©, 339969ds:

J 3 P !
(TR = Q|1 +5-9 » ()]

a39Lols 30356  dmmbmgbols 93bGH03MO™doL  (12.11) xgmOIOl [E( Q;P)=- Qi- g’D(P)]
25035¢0bHobgdom gl 396513690 A50f9Mgds Fgdgao Laboon:
(TR)' =Q-[1 —E(Q; P)]
599056, 3bsO0s, H™I
% 0mgs E(Q;P) > 1, sbv) dmmbmgbs gemsbdoznm@os P gsbol dodséom, (TR)' <0 s 93 9gdmbgggsdo

(TR) dooosbo Fgdmbogerol 539964300 P 335L0l 3¢0gds@o 3399693009;

% 0m3S E(Q;P) < 1,569 dmobmgbs 565gemsb®ozmos P gsbol dods®m, (TR)' > 0 s 53 d938mbgggsdo
(TR) 3000560 F9dmbogerols i3bdzos P gsliol bem@ao 3w9643059;

% 0035 E(Q;P) =1, 3699 dmobmgbsl 993b 960mgemgsbo gemsbidogm®mds P gslol dods®om, (TR) =0
o 530 dgdombggzsdo P xsbol d3009 (33000 gds momddol @  33ewolb  (TR) dmenosbo dgdmbogenols
53996930sb.



O 59Goys:

» E(Q;P) >1, 5699 dmobmgbs gamsbdogzmmos P 3slol dodstom, d5306:

= P gpbolb 25bGm@sL, 6 Q@ dmmbmzbol (39goImo 3MMmEJaool MomEgbmdol) 89dzomgdsl,
dmbg3l (TR) 300560 93mbogeols 3amgds,

" boom P g3sbol 993060905, 9699 Q dmmbmgbol (99400 36H:m©dgool Hom@gbmdol) gobmsl,
dmbg3l (TR) 907¢00560 dgdmbiogenol M s.

> E(Q;P) <1, 5699 dmmbmzbs 5M59emsbdogm@os P i3sbol dodsero, ds30b:

= P gpbol 25bMm@sb, 699 Q@ dmmbmzbol (39goIcro 3MMmEJgool MomEgbmdol) d9dzomgdsl,
dmbg3lb (TR) 993mbogemol Mo,

" bowm P gsbolb 3933060905b, 569 Q dmmbmgzbol (299400 30mMm©YId300l M5m©abmdol) asbmls
dmbg3l (TR) 3gdmbagerols 399E30Mgds.

> E(Q;P) =1, 56v9 30mmbmgbsl 593b 96M009w9emm3560 9emsldozry®mds P 3sbol dods®o, d530b:

= P ol @ Q 3dmobmgbol (a04omwo 36G™m©Jgool MomEgbmdol) 300y (330w gds
254 BH™IM035 M 0f)393L6 (TR) T9dmbogeol 33eoegdsb.



0 33m3sbs 2. 303m3mm, dmmbmgbols Ladrsemm geEslBHozwIMMds 3slol bsbMol Jodsmm, mv) dmmbmgbols
5319693009
P = fp(Q) =200 - @*
Q9 36MMYYJ300L §OHJol BoLO 3¢0gdEmdL 136 MEIMO0EIL 133 EMESMSTWY.
E 250Mm3035¢0m® D3e o gesbGogzmmmds, Omgbsg 3b0s 136 MEsMo.
B 29359065¢n0bBmon domgd)emo 89g0.

O 59mblbs: 53m3sbols 3oMHmdol a5dmygbgdom, 4sdmgbsbmm @ dmmbmgbs P i35Lol Ladwsengdoo
Q*=200-P

Y

590, 930bMI03MH0 FobssMLoEL A9dMIPObIMg @ WIId0MO LOWOWYS, SFoEM™I 339469ds:
Q= gp(P) =200 - P
> 3bswos, Gmgs P =136, 8306 Q = gp(136) =200 — 136 =64 = 8.
» B39b 890mbggzsdo AP =133 — 136 = —3.
> Q=gp(P) x3u964300L dgLsds3olo bsBOHO 0dbgde:
AQ = gp(133) — gp(136) = V200 — 133 — V200 — 136 =
=67 — /64 = 8,1854 — 8 = 0,1854 .

0 8mmbmgbols badwmsemem gemsldozryGmdol (12.10) gmGdmeoom [E (Q;P;AP) = — g- % ] 239969s:

136 0,1854 25,2144

E(Q;P;AP)=E(8;136;—-3) = — 3 3 24

=1,0506



0 8mobmgbols g9emsbdozmmmds i3sbiol dods®o (12.11) }m®dom [E (Q;P)=+ 5- g’ D(P)], d0300900:

P P : P(200 — P)’ P
E(Q:P)=— g/ (P)=— — (V200 —P) = _
(@P)=—g 9" ="7 (W200E) 20vV200 —P  2Qv200 — P

099 3930m350bfiobgdm, O™I HmEs P = 136, 35306 Q = 8. do300900:

P 3 136 _ 136 136 .
20V200—P 16+200—-136 16-8 128 '

E(Q;P) =

U eomgmods 305000
> E(Q;P)>1, 56v) dmombmzbs gesb@ogzm®mos P i3sbol dodston, d530b:
= P ggsbob g5beMsb, s6v) @ Immdbmgbol (294ouwo 3MMmYYJ300L Gom©gbmdol) d9dEoMmgdsl,
dmbgal (TR) 300560 99mbogemols 3amgds,
" boe P gsbol dgdzo®mgdst, 56w Q dmmbmgbols (3990@vyeno 36Hm©vIdEool Mom@gbmdol) g4obmsb,
dmbgal (TR) 800¢0560 393mbogemol DO s.

O 50256 gasbGogrdmmds gsbol dods@om 1 -bg dg@ oo, sdoGH™md Q@ dmmbmabs gesbBogzm@mos P x3sbols

30356 m, bmem (TR) dong0sbo d93mbogsemo 3angde@os P g3slols dodo®on.

O 5960950, P 535bolb 39330609056 136 0m0s®0sb 133 ms®@sdg 099690603500 dmbgal @ dmmbmgbol

DOEs. 9306 IbG®OZ, gL 0§393L (TR) 300560 dgdmbisgeols BEELL.



\%

A7

5903965 3. 303m3mm, FMbM3zbols bodwyoem geslB0zmMds 3oLl bsbOHOl JodseOm, oy dmmbmzbols

33693095
P = fp(Q) = 400 — 2Q?
Q5 30300l 9HMJEol B30 0BOEYds 112 WsM0EIb 115 os®msdY.
= 2503003500 dmmbmgbol gesl@Gozry®mmds, ®mogbsg i3obos 112 gsdo.
B 2035965¢00bmon domgdiemo 89090.
53mblbbs: 533960l 30OHMBdOL gosdmyggbgdom, 2sdmglobmm @ dmmbmgbs P gsliol bydrjswgdom
202 =400 - P 5Jgs6, Q%*=200-0,5P

590, 930bmMT03MH0 FobssMLoL A5dMIPObIMg @ WIEId0MO LOWOWYS, SFoFM™I 339469ds:

Q = gp(P)=.200-0,5P

3bo0s, GmEs P =112, 35306 Q = gp(112) = /200 — 0,5 - 112 = V200 — 56 = V144 = 12 .
B396 990mbggzsdo AP = 115 —112 =3.
Q =gp(P) 8v6J300lL dglsdsdolbo bsbeo 0gbgds:

AQ = gp(115) — gp(112) =,/200 — 0,5 - 115 — /200 — 0,5 - 112 = 11,937 — 12 = —0, 063.
=67 — /64 = 8,1854 — 8 = 0,1854 .

dmmbmgbol LydrPErm gesbiBo3IOMdOL (12.10) BMGIMEom [E( Q;P;AP ) = — g- % ] 23996909:

112 -0,063

E(Q;P;AP)=E(12;112; 3) = — - -

= 0,196
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250Mm3m35wm»  dMMbmzbol gesld03rIMmds (12.12) 3memImerom [E (Q:P)=— Qﬂ. ol 30300900:
D
E(Q:P)= P 1 _ P 1 _ P r P
e @ @ (400-20%) Q@ -—4Q 4Q?

099 2930m350bfjobgdm, OmI OGmas P = 112, 3530b Q = 12. do3009d0:

R P _ 112 112 136
< ©4Q2  4-122  4-144 128 7

MMy MmO3 303000
E(Q;P) <1, 6v9 donbmgbs 5659wsli3og«ymos P 13sbol dods@o, 85d0b:
= P gsbob 29B6msl, 5699 Q@ dmmbmgbols (3ogyoo 3MM©YId300l Gomgbmdol) dgdzoMgdsl,
dmbg3lb (TR) 893mbogemol B,
" bowm P gsbol  3993ocmgdsl, s6v) Q@ dmmbmgbol (3994owo 3GMm©Yyd3ool Mmomegbmdols)
29D6MHdL dmbig3l (TR) 3gdmlisgemols 39330609ds.
596  gasliBogmemds Rsbol dodsdmm 1 -bg bszargdos, sdoBHmd @ Tmmbmgbs sGvgEslBo3Mos P
13Lol dodsem, beagom (TR) doneosbo Ggdmbogscro P 13sLol 30dsmom BGowo 3w96300%0.

bomm, P Lol 25bMsl 112 @s60sh 115 ms®sdg 3169300350 dmbgsl Q dmmbmgbols 3e0gds.
530l b3, gL 0§393L (TR) dmemosbo Fgdmbogerol BOEL.
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LEOME05©  SBswMPoMo© 296035MFEHds Fofimgdol Lsdwsemm  geESbEBHOIMMMds 3sbol AP BsbOol
dods6on:

3ofm©gd0b bodmoem gemsliBogwMMds gsbol AP B3BM©ob Jodsdom ghHmmgds bowowgb:

AQ
Q — 30f©9gd0L BoOMI0M0 bsBOHO ?l B | P AQ

ECQ;P;AP) = P — 33510l 3sO@M™domo bsbGo |£| Q AP (12 13)
P
5296 d0fimgdol Q = gs(P) 3w6J305 BO©I0s P 560339630l dodstrm, sdo@md
AQ
E >0
9L 30 035l 603bsgl, ™I (12.13) 3mEOTMeE0s Il Q56gdq sbg hsoHgMgds:
P AQ
E(Q,P,AP)—E- e (12.14)

vy 3039obbdgdm, Gmd Q = gg(P) dofHimgdol xmbzos Homdmgdsos s (12.14) xg3m®HINesdo
2900935 begzs®do, AP — 0, 30300900 LoOoIL, OHMIgGEbsz 9hHm©gds FoHm®gdoL LGOI IOMDS
g35bob JoTsG0:

P
E(Q;P)= lim E(Q;P;AP) = Q—-g’S(P) (12.15)

39600365 2. vy Jofimgdol BMbdEos dmEgdeos P = fg(Q) Lbsboom, 35dob Fgazodenos 53m309gbmm
3 3gMbsEH0ME0 3MOIMs Jofimgdol genslio3)OHmdol gsdmbsmzagws i3slol dodsmo:

E(Q;P)= . L
GP)= 9@




